
 
 

 

 

Product No. FEC36C2AQD FEC36C2ASD 
 3805441141044 3805441141014 
Series 36" elec 36" elec 
Color bisque white 
Market North America North America 
Wiring Diagram 318046901 318046901 
Owner's Guide 318200612 318200612 
Installation Instructions 318201410 318201410  

 

FEC36C2A.eps LA9923G40B.eps LA9923V41.eps         318046901.eps    
  

ELECTROLUX HOME PRODUCTS, INC. 
P.O. Box 212378,  Augusta, GA 30917 

Publication No. 
5995403143 

04/02/03 
(EN/SERVICE/ECL) 

377 

ELECTRIC COOK-TOP 
RANGE 

Model No. 
FEC36C2A 

 

Copyright © 2004 Electrolux Home Products, Inc.
All rights reserved. 

 

 



Publication No: 5995403143  FEC36C2A 

02/04 2 

CONTROL PANEL 
 

 

 



 FEC36C2A Publication No:  5995403143 

# Functional Parts 3 02/04 
* Non-Ilustrated Parts 

CONTROL PANEL 
 

Model Index:  A FEC36C2A (FEC36C2ASD) 
  B FEC36C2A (FEC36C2AQD) 

POS. NO PART NO.    DESCRIPTION 
16    5303291327 A B  Plate, instrument mtg 
19    318242600 A -  Panel, control, white 
19    318242601 - B  Panel, control, bisque 
36    318196633 A -  Knob, control, white 
36    318196635 - B  Knob, control, bisque 
46    5303297274 A B  Lens, indicator light 
51 #  318044822 A B  Light, indicator, clear 
*     5303272289 A B  Seal, indicator light 
54 #  318220009 A B  Switch, surface unit, small 
54A#  318220010 A B  Switch, surface unit, large 
*     318146010 A B  Bushing, switch 
69    5303323134 A B  Screw, switch mtg., 8-32 x 0.188 
107   5303325928 A B  Housing, wire feed 
108   5303325931 A B  Housing, bottom slide 
163   318014100 A B  Spacer 
 
*     3051070 A B  Screw, hex washer head, 10-24 x 0.438, special 
*     5303311306 A B  Screw, 8-18 x 0.375 
*     5303311532 A B  Screw, 6-32 x 1/4", back 

 



Publication No: 5995403143  FEC36C2A 

02/04 4 

MAIN TOP/SURFACE UNITS 
 

 
 



 FEC36C2A Publication No:  5995403143 

# Functional Parts 5 02/04 
* Non-Ilustrated Parts 

MAIN TOP/SURFACE UNITS 
 

Model Index:  A FEC36C2A (FEC36C2ASD) 
  B FEC36C2A (FEC36C2AQD) 

POS. NO PART NO.    DESCRIPTION 
15 #  3051450 A B  Element, surface, 8" large 
15A#  3051449 A B  Element, surface, 6" small 
16    318159041 A -  Main Top, white 
16    318159044 - B  Main Top, bisque 
18    318074310 A B  Hinge, maintop, (2) 
19 #  318067056 A B  Pan, surface element, large, chrome 
19A#  318067046 A B  Pan, surface element, small, chrome 
27 #  318223403 A B  Terminal Block, surface element, 30", yellow leads 
27 #  318223404 A B  Terminal Block, surface element, 39", brown leads 
27 #  318223412 A B  Terminal Block, surface element, 30", white leads 
27 #  318223424 A B  Terminal Block, surface element, 36", orange leads 
28    5303017715 A B  Medallion, 1 1/2"dia, black, surface element 
46    318077121 A B  Burner Box 
63    5303291326 A B  Plate, grounding 
93    5303304731 A B  Bracket, terminal block 
 
*  #  318078532 A B  Box & wires assy 
*     5303324001 A B  Spacer 
*     5303300195 A B  Screw, 10-32 x 0.375, terminal block, (2) 
*     5303311532 A B  Screw, 6-32 x 1/4", back 
*     5303323140 A B  Screw, ground, 10-32 x 0.375 
 

 



Publication No: 5995403143  FEC36C2A 

02/04 6 

WIRING DIAGRAM 
 

 
 


